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1 + 1 = 2 - 1 =

2 + 1 = 3 - i =
1 + 2 = 3 - 2 =

3 = 2 + .
3 = 1 + .

1 + 1 =
2 + 1 =
1 + 2 -



3 + 2 =
2 + 3 =

5 = 3 + .
5 = 2 + .

-L-

- 4.-

mvi4^-̂
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Stilett tion cttt§ bis 5 c l) tt,
(2lllfettige Setjcmblung.)

3
3

1
2

2 in 3 = 1 (1)
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1 + 1 + 1 + i + 1 =
5x1= ! 1 in 5 = I Vs t>. 5 =

2 in 5 =

5 = 3 + .
5 = 2 + .
1x3 + 2 =
3 in 5 =
5 = 4 + .
5 = 1 + ■
1 X 4 + 1 =
4 in 5 =

2 + 2 + 1
2X2 + 1
3
2
5
5

+ 2
+ 3
- 2
- 3

4 + 1
1 + 4
5 - 1
5-4
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2 .

2 + 1 + 3 =
2 + 3 - 4 =
5 - 1 + 2 =
6 — 3 - 1 =

I. föec$ent)u$. XI. 1312.

— 3. —
3 + 2 + 1 =
1 + 5 - 3 =
6 - 5 + 4 =
6 - 4 - 2 =

1 + 2 + 2 =
4 + 2 - 5 =
4 - 3 + 5 =
5 — 1 — 4 =

2
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— 4, —

3x1 + 2 =
2x3-4 =
1x5-3 =

-5.-
2X2 + 2 =
6x1-5=
3x2-1 =

Va o. 6 =
Vs o. 4 =
V3 0. 6 =
V« o. 6 =

V* t>. 2 + 4 =
Vä o. 6 — 2 =
V* o- 6 + 3 =

□□□□□□□ n
l + l + l + l + l + l+ l —

7X1= | 1 in 7 = | l/i x>. 1 —

2 + 2 + 2 + 1 =
3X2+1=

3 + 3 + 1 =
2x3+1 =

4 + 3 =
3 + 4 =
7 - 3 =
7 - 4 =

2 in 7

3 in 7 =

7 = 4 + .
7 = 3 + .
1x4 + 3 =
4 in 7 =

5 + 2 =
2 + 5 =
7 - 2 =
7 - 5 =

7 = 5 + .
7 = 2 + .
1 X 5 + 2 =
5 in 7 =

6 + 1 =
1 + 6 =
7 - 1 =
7 - 6 =

7 = 6 + .
7 = 1 + .
1x6 + 1 =
6 in 7 =



- 8.-

— 4. -
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9 X 1
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7 + 1 =
2 + 2 =
1 + 3 =
2 + 4 =

5 - 1 =
6 - 2 =
4 — 3 =
9 — 1 =

7 + 1 +
5 + 2 +
1 + 4 +
3 4-2 +

6 = 5 +
7 = 4 +
9 = 6 +
8 = 4 +

- 8.-

5 + 2 =
1 + 5 =
2 + 6 =
2 + 7 =

5 - 3 =
8 - 8 =
9 - 6 =
9 - 7 =

7 - 3 =
4 - 5 =
3 + 2 =
1 + 4 =

2 + 3 =
4 - 1 =
5 + 6 =
3 - 7 =

-5.

-7.



l+l+l+l+l+l+l+l+l+l
10 X 1 = I 1 in 10 = Vio o. 10

5
10
10

+ 5
5
5 +

10 - 9

2X5
5 in 10

10J /2 t).
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2 x 3 + 4 =
3 x i + 5 =
2x2 + 6 =
5x2-7 =
2x4-5 =
2x5-6 =

-9.-
3 X 2 + 4 =
3x2-4=
2X2+2=
2x2-2 =
3x3 + 1 =
3x3-1 =

V* d. 8 + 7
Vs o. 10 + 6
Vz o. 6 — 3
V* o. 10 — 4
V* o. 9 - 2
V* o. 8-3
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Jftmter Btifdjmtt
^rttxnleruttcj des JJa^remrcmmeö 6ts

att>a«3tg.

10 + 1 - 11

10 + 2 - 12

10 + 3 - 13

10 + 4-14

10 + 5 = 15

10 + ö = 1«

10 + 7-17

10 + 8 = IS

10 + 9 = 19

10 + 10 - 20

3 »
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11 X 1

5X2 + 1

3X3 + 2

1 in 11

2 in 11

3 in 11

1 X 10 + 1

11 = 10 +
11 = 1 +

10 in 11 =

- 1 . -
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2. —

- 8.-

- 4.-

— 5. —

— 7 . —



mm

12 X 1 = 1 in 12 =

1 X 10 + 2 = 10 in 12 =



23

- 4.-

— 7. —

2X5 + 2 =
6X2-3 =
3X3 + 3 =
3X4-4 =

- 8. -
5X2 + 1 =
4X3-5 =
3X2 + 6 =
2X6-7 =

V* 0. 8 + 9 =
V* o. 10 - 4 =
Ve o. 12 + 5 =
1/4 o. 12 - 3 =
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10+3
3 + 10

13
13

3
10

1 X 10 + 3
- 1 .

13
13

10 in

10 + .
3 + .

13

9
10
11
12
13

3
3
3
3
3

2.
12
9
6
13

3
3
3
3
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7+3+3
5+3+3
6+3+3
8+3+2
4+3+1

2 in 10
2 in 4
2 in 6
2 in 8

13
11
9
12
10

3
3
3
3
3

3
3
3
2
1

3. —
8+3-2
6+2-3
9+3-1
13-3+2
11-2+3

6+3+2+1
12+1-2-3
10-3+2+3
5+3+3—2
7+2—1+3

( 5.

8.

Vs o.
Vs 0 .
V« t>.
V« d.

10
%

5
6
12

12
12
10
12

+ 9
- 5
+ 7
- 3



14 X 1 = 1 in 14 =

1 X 8 + 6 = Ain 14 =

10 + 4 =
4 + 10 =

1 X 10 +
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- 3.-

- 4.-

- 5.-

— 6. —
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15 X 1

7X2 + 1

5X3 3 in 15

3X4 + 3

3X5 5 in 15

2X6 + 3

2X7 + 1

1 1 in 15 =

2 in 15 =

- Vs t>. 15 =

4 in 15 =

= | Vs o. 15 =

6 in 15 =

I 7 in 15 =

8 + 7= 15-7 =
7 + 8= 15-8 =
1X8 + 7 =

15 = 8 + .
15 = 7 + .

8 in 15 =
9+6= 15-6 =
6 + 9= 15-9 =
1X9 + 6 =

15 = 9 + .
15 = 6 + .

9 in 15 =
10 + 5 = 15-5
5 + 10 = 15-10

1 X 10 + 5 =

15 = 10 + .
15= 5 + .

10 in 15 =
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12 + 3 =
2 + 3=5
10 + 5 = 15
12 + 3 = 15

11 + 2 =
11 + 4 =
12 + 2 =
13 + 2 =
14 + 1 =

15 - 4 =
5-4=1

10 + 1 = 11
15 - 4 = 11

-5.-

— 6.—

-7.-

- 8,-
Vs o. 12 =
lh o. 6 =
Vs o. 4 =
V» 0. 12 =

5X2 + 5
2X6-3
7X2 + 1

V* o. 3
lh 0- 14
lh ü. 9
V* n. 12

15
14

+ 5
3
9
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16 X 1

8X2 2 in 16

5X3 + 1

4X4 4 in 16

3X5 + 1

2X6 + 4

1 in 16 =

Vs t). 16 =

3 in 16 =

74 0. 16 =

5 in 16 =

6 in 16 =

2X7 + 2 = 7 in 16 =

1X9 + 7= 9 in 16 =
10 + 6 = 16 - 6 = 16 = 10+.
6 + 10 = 16- 10 = 16= 6 + .

1 X 10 + 6 = | 10 in 16 =
- 1.-



Bl

— 3. —

- 4. -

— 5.-

— 6. —

- 7.-
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17 X 1 = 1 in 17

1 X 10 + 7 = 10 in 17 =

12 + 5
9 + 5
17-6
11-6
17-7
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- 8.-

— 4.

— 7. —
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18 X 1 = | 1 in 18 =
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2 + 8 + 8
5 + 8 + 4
7 + 8 + 3
16-8-6
18-8-5
15-4-8

11 - 2 =
11 - 5 =
11 -8 =

11-4 =
11-7 =
11-9 =
11 - 6 =

3X4 =
2X7 =
3X6 =
4X4 =

2 in 12 =
3 in 12 =
4 in 12 =
6 in 12 =

V« o. 12 =
1/2 0 . 10 =
V* 0. 8 =
Vs D. 6 =

3X2 +
4X4-
2X4 +
5X3-

- 5. -

- 7. -

- 8. -
= 4X3 + 5 =
= 3x6-6 =
= 2X7 + 4 =
= | 9X2-8 =

V* n. 10 + 8 =
Vs 0 . 12 - 2 =
V* 0 . 16 + 7 =
V» 0 . 18 - 6 =
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19 X 1 = 1 in 19 =

9X2 + 1 2 in 19

6X3 + 1 3 in 19

1 + 9
2 + 9
3 + 9
4 + 9
5 + 9

- 2.-
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- 8.-

4.
6+3+9=
8+5+6=
3+4+7=
18 - 7 - 8 =
19-9-7 =
9+9-8=
12 + 5 - 9 =
17 - 6 + 8 =

2+3+9+4=
5+6+4+4=
4 + 2 + 3 + 7 =
18- 4-3-9 =
19- 7-2-3 =
6 + 7 — 5 + 9 =
8 + 6 — 9 — 3 =
16-8 + 9- 5 =

17-9 + 6-8 =
15- 8-3 + 9 =
14-7 + 5 + 4 =
6 + 9 — 8 + 6 =
8 + 7 — 6 — 9 =
16- 9 + 6-5 =
12-4 + 7 + 3 =
19-8-4 + 9 =

- 5.

- 6. -

- 7.-

- 8.-
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20 X 1 = !

10 X 2 = | 2 in 20

6X3 + 2= |

5X4= | 4 in 20

4X5= | 5 in 20

3X6 + 2= |

2X7 + 6= |

2X8 + 4= |

2X9 + 2= I

10 + 10 = 20-10
2 X 10 = 10 in 20

1 in 20 =

Vio t>. 20

3 in 20 =

| Vs o. 20

| 1/4 o. 20

6 in 20 =

7 in 20 =

8 in 20 =

9 in 20 =

= 20 = 10+.
= V* o. 20 =

- 1 . -
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10 + 1 =
13 + 1 =
18 + 1 =
11 + 1 =
14 + 2 =
17 + 2 =
16 + 2 =
13 + 2 =
11 + 2 =

12 + 3 =
15 + 3 =
13 + 3 =
16 + 3 =
11 + 4 =
14 + 4 =
12 + 4 =
11 + 5 =
15 + 5 =

— 8.—
12 + 6 =
14 + 6 =
11 + 7 =
13 + 7 =
11 + 8 =
12 + 8 =
10 + 8 =
10 + 9 =
11 + 9 =
— 4. —

15 — 1 =
19 — 1 =
12 — 2 =
17 — 2 =
14 - 2 =
13 - 3 =
19 - 3 =
16 — 3 —
15 - 4 =

19-4 =
16 - 4 =
17 - 5 =
19 - 5 =
17 - 6 =
20 - 6 =
18 - 7 =
20-8 =
19 - 9 =

6 + 7 + 5 =
4 + 8 + 7 =
9 + 5 + 6 =
3 + 8 + 9 =
7 + 9 + 4 =
5 + 6 + 7 =
4 + 7 + 7 =
8 + 6 + 4 =

7 + 10 - 9
18 - 10 + 7
19 - 5-10
16 - 9 + 10
8 + 8-9
15 + 4-10
17 - 8 - 7
9 + 10 - 8

12 + 2 + 2 + 2 =
15 - 2 - 2-2 =
8 + 3 + 3 + 3 =
13 - 3 - 3 - 3 =

18 - 4 - 4-4 =
15 - 4 - 4-4 =

- 5. -
2 + 5 + 5 + 5
5 + 5 + 5 + 5
19 - 5 - 5-5
16 - 5 - 5-5
1 + 6 + 6+6
2 + 6 + 6 + 6
19 - 6 - 6-6
17 - 6 - 6-3
- 6. -

1
18 - 7 - 7-3
19 - 7 - 7-5
3 + 8 + 8 + 1
20 - 8 - 8-2
1 + 9 + 9 + 1
17 - 9 - 5-1

4 + 3+10 + 2 =
19 - 7- 4-5 =
17 - 5+ 3 - 7 =
14 - 2- 6 + 9 =
6 + 9- 7 + 8 =
9 + 9- 5 - 6 =
19 — 5+ 3-9 =
18 - 9+ 8-4 =

16 - 4-
7 + 9-

13 + 7-
15 - 6+10

5+10
4+ 6
9- 8
- 7

20 - 8+ 6-5
6 + 8- 9+ 6
17 - 5- 10+ 9
12 + 8- 9- 9

6
5 + 2 + 8 + 5
20 - 5 - 7-6
18 - 3 - 6-9
8 + 9 - 6 + 8
19 - 9 + 8-6
20 - 8-5 + 9
9 + 7-4 + 8
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7.

2
4
3

5
2

4
10
10
12
12
14
16
16
18
18

2 X.
2 X .
5 X.
3 X.
6 X.
7X.
4 X .
8 X .
3 X.
9 X.

2X4 + 7
8X2-6
5X4-5
6X3 + 2

9.

- 10.-

V* 0. 8 + 10 =
V* o. 18 - 8 =
Vs o. 10 + 7 =
V« o. 15 - 3 =

11 . -
16 + 9
20-6
14 + 8

V» o. 18 + 7 —
V* o. 20 - 3 =
V» 0. 18 + 10 =
Vj n 16 — 5 =
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